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sRasESTmageys

$55R9

RS BREE2IRY

O {RESBRHELES ( The law of sines )

gimnsqiiiman ABC msjgaBC=a, AC=b, AB=c
b C

: = — = — =2R 1
sSINA sInB sInC

FUARHIANRE O M R 16MS

NI T
A

rotinine BD = 2R 19eiins ZBAD =90° (gwiinngsig)
AB ¢

BD 2R

ity ZADB = ZACB (guiinfuniignanyigy ABH

AHfETmanig ABD idis sinD =

sfoeiosies By Sge gt 1



sRasESTmageys

1EmMe sinC = ¢ 8] _C =2R 9
2R T sinC
0 a - b
[PORBEIIRIENS ——=2R 8§ ——=2R
! siIn A sinB
U518s a b ¢ 2R 9

7 sinA sinB sinC
[Biougissiinthsstimss A , B, C E[s U §ink U 550

2 1

). 5852862895652 (Projection Formula )

AuEtEiman ABC ining
a=bcosC+ccosB

b=ccosA+acosC
c=acosB+bcosA

AI[ENT TN
A

B H C

sodifigal AH isiiman ABC
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sRasESTmageys

iins BC=BH+HC
fugEmaning ABH 84 AHC inins :

(=3
1

cosB = BH = BH 1513 BH=ccosB
AB C
HC_HC

cosC = = i1 HC =bcosC
AC b

itnsiiss BC=ccosB+bcosC ittt BC=a
duiss a=bcosC+ccosB
BIMeIUHENNG] R [ANWEEHUfUSIIIesinT
nugAtIman ABC inwns :
a’ =b? +c? —2bccos A
b?=c®+a®—2cacosB

¢’ =a’+b%—2abcosC
AI[ENT TR

MUJUHEEIAMMTRIHTS :

(a=bcosC+ccosB a’ =abcosC+accosB

A

b=ccosA+acosC U 1 —b?=—-bccosA—abcosC

([C=acosB+bcosA |_¢2—=_accosB—bccosA

S

IERUYRBMINITSsHY 84 HRMS :

sfoeiosies By Sge
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sRasESTmageys

a’—b? —c®=-2bccos A ] a® =b®+c® - 2bccos A
BINeIUHENNG]H ENWEBMENNIRT
C.REEBRBENS
nugatman ABC itums(i a,b, ¢ Snsgnsgim
m,,Mp, M, RIS :

2 b%+c® a’

2 4

2 c? +a’ B b?
T2 4

2 a’+b? ¢

m.” = -
2 4
R {EIUNNA
A
B K C

aeEns AK =my,
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sRasESTmageys

o

myGQusgunuEmn ABK

AK? = AB? + BK2 —2AB.BK cosB
2 2

2=¢? 2+aj—accosB (1)

a a
imy~ =c +Z—2c.§cosB=c

o

myERusgunuEIm AKC

AK? = AC? + Kc:2 _2AC.KCcosC
2 2

gm 2=b2+a——2b.§cosC=b2+a——abcosC (2)
= b 4 2 4

uniegEm (1) & (2) wms
2

2=p%+c? +a?—a(ccosB+bcosC)

2my

iiccosB+bcosC=a ¢ juugdinmeinii)

2 2 2 82 2 2 2 az
imemy =b“+c"+_——-a"=b"+c" - —
2 2
5 » b%+c? a?
2 4

é.1pesvagisRs ( Leibniz’s theorem )
puRn M ABC igwmsigy a, b, c 1w O tfaiisiings
a’+b%+c?

84 G the[uNsysisfimanmasms 0G2 = R? - : L
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sRasESTmageys

NI T

wigns AK 8 BL mamti G
it LZOGA =0 1518 LOGK =1t—0
mugaueiaguitRtman OGA :

OA?%2 =0G? + GA? - 20G.GAcosa

OG? + GA? — OA?
1RGN coSa = (1)
> 20G.GA

mugaueaguiiRiman OGK :
OK? =0G? + GK? - 20G.GK cos(n — o)
OK? =0G? + GK? + 20G.GK cosa

sfssdorsies B s950 6ot 6



sRasESTmageys

OK?-GK?-0G?
IHGUNMS CoS QL = (2)
> 20G.GK
B (1) 54 (2) nms:
OG%+GA?-0A®? OK?-GK?-0G*
20G.GA 20G.GK

0G2+GAZ-0A2= A (OK? - GK?-0G?)

GK
2 2 1 1
I‘u’“l[ﬁ‘iﬁﬁ”ls OA:R ,GA:§AK:§ma ,GK=§AK=§ma

2
o o a. L <
miimanmg OCK : OK? =R? vy BN )

2 4 2 2 , a1, ,
inms OG +§ma -R“=2(R _Z_§ma ~0G*)
2
y 30G2=3R?-2m2-%
o o ) b%+c? a?
MUSIUGIERNS M,” = > T4
jniige 30G2 = 3R? —g(bz +c? — az)_ a’
' 3 2 4 2
3OGZ—3R2—a2+b2+CZ
2 .2 2
gﬁtgg OGZZRZ—a +b +C q

9
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sRasESTmageys

&ﬁéﬁa Stewart ( Stewart's Theorem )
ngEman ABC gwmspgiia,b,c
P thinnsguiis AB I8 PA=m , PB=n88¥m+n=c
IHMS ma® +nb? = (m+ n).PC2 +mn?+nm? 1
TR S80S Stewart Uumsi{Eius Apollonius
(Apollonius' theorem)
RI{EUONA

C

A P B

mugRusHagutimsEiman PAC i PBC inms :
AC? = PC? + PA®> —2PC.PAcCos¢ it ¢ = ZAPC

BC? =PC? + PB? + 2PC.PB.cos ¢
ithus AC=b ,BC=a ,PA=m, PB=n

sfssdorsies B s950 Grf 8



sRasESTmageys

i5ms b? = PC? + m? — 2mPC.cos ¢
84 a®=PC?+n?+2nPCcos¢

1ngiss nb? + ma? = (m +n)PC? + mn+mn?

H1es ma’ + nb? = (m + n).PC2 +mn?+nm? 9
o i imanieiEeEes
5, 5IRARIEE RO sy
puRnEIman ABC igwmsiny a,b, ¢ 8y hy, hy, he
IHMSIRNEN S = 1aha _1y hy, = R he
- 2 2 2
o. 5T od Ro Sy
[Fajus: inngnis AABC fansisthes :
S =EbcsinA = lcasin B= labsinC 9
2 2 2

mgmmmylﬁA
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sRasESTmageys

THENS S=%AH.BC=% ahy
fHfRmaning AHC inms sinC = 22 = hba i h, =bsinC

Huiss S = %absinC 1

WY
mu{GHusiiguiAme sinC = % e R thssiimp {Hman
115188 S = Eabsin C= Eab. ¢ _ abc
' 2 2 2R 4R
HEiss S = lbcsinA = Ecasin B= labsinC: abc «1
’ 2 2 2 4R
5, SEERIRND
4 74 0
[Fajusg: ig{ngnis A ABC shwanmisugiub a,b,c
st S = \/p(p —a)(p—b)(p—c) B p= a“z”C

NI T
MyjutEs S= %bc sinA (1)

iwe sin® A =1—cos? A

s a2 = b2 +¢2 — 2bccos A

b2 +c?—a?

2bc

1318 COSA =

sfssdorsies B s950 ot 10



sRasESTmageys

.9 b? +¢” —a’ 2
ime sin® A=1—( b )

_ 4b%c? —(b® +c®—a%)?
- 4bc?
_[(b+c)’ —a*][a° — (b —c)°]
- 4b?c?
_(b+c+a)(b+c—-a)la+b-c)(a-b+c)
- 4b%c?

M p = g "L mmgstinipis AABC

(a+b+c=2p

b+c—a=2(p-a)

a+b-c=2(p-c)

la-b+c=2(p-D)

16p(p —a)(p—b)(p—c)
4b?c?

mawysinA =2 Jp(p-a)(p-b)p-c) (2)

NP ER

iHmE sin? A =

Wi (2) geom (1) iHms
1 2

S=—bcx— — —b)(p-
5 bex PP —a)(p-b)(p—c)

gees S=.p(p—a)(p-b)(p-c)

sfueonies B Spge gnf 11



sRasESTmageys

o, Zﬁgﬁi’ﬁg%mme’aaeﬁw?ﬁmw?a‘zzﬁ £0 #0055
</ 9 174 4 Q’
[Fajus: inngnis A ABC i8ms p Sfgstime 85 r th

tenimipuisEimantandihw S=pr

AI[ENT TR

i | ShnimmingiEmman ABC itw H, K, L téssusihi
RUEIRRREIMAN hywpk BC,CA, AB i1jim 9
i3[ngnis AABC fangisshes :

1 1 1 a+b+c
S=S,ac+Sica +Siap = —ar+-br+—cr=2"2"C ¢
IBC T SICA T o188 =8N+ > >
mﬁpzahLTbH: i S=pr A
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sRasESTmageys

d.wlgeoknge se slgsckagiegomas
a+b+c1

2
i r 88 R sjsmehmiisisiinn §u mMagiwiinigmis A ABC

ng]Himan ABC gtumsighi a,b, ¢ 1iitwemii p =

MEIUYSIBHgNis{Himan ABC inms :

abc
S=pr=ﬁ=Jp(p—a)(p—b)(p—C)

e \/(p—a)(p— b)(p-c¢)

P
abc

4\p(p-a)(p-b)(p-c)
d.dmndesgingose Femanys

84 R=

ingjHiman ABC gtimsgtia,b,c 9

[iti a,b, ¢ medmidsugsthugnudis r,R,p gusunimy :
[ a+b+c=2p (1)

A

ab+bc+ca=p?+r’+4rR  (2)
abc = 4prR (3)

meBwth a,b,c MywiswEmitifss :
x> —2px% + (p? +r2 +4rR)x+ 4prR =0 (mu{dauaiia )

BIMsgMAGal (2) 81 (3) MENWUIMATEERI{MY

sfssdorsies B s950 Gof 13



sRasESTmageys

(p—a)(p—b)(p-c)

MuJuYg r= \/

P
g r2 = P3P ; b)(p —c)
2 _ p3 —(a+b+c)p2 + (ab+ bc +ca)p—abc

P
- abc
ihtwa+b+c=2p ﬁntﬁS=E=pr 113 abc = 4prR

3_9n3 _
tiSs 2_P 2p~ +(ab +;)c+ ca)p—4prR

r’=-p°+ab+bc+ca-4rR

Buiss ab+ bc+ca=p?+r? +4rR 9
YN
Nayepls (a+b+c)2 =a’ +b? +c? + 2ab + 2bc + 2ca
inms a2 + b +¢% = (a+b+c)2 —2(ab +bc+ca)
= (2p)2 — 2(p2 +ré+ 4rR)
= 2p2 —2r®> —8rR
Buias a° +b? +¢° =2p° —2r® —8rR (4)
it (a+b)(b+c)(c+a)=(a+b+c)(@ab+bc+ac)—abc
= 2p(p2 +rl+ 4rR) —4prR
= 2p(p2 +rl+ 2rR)

sfueonies B Spge ot 14



sRasESTmageys

8183 (a+b)(b+c)(@+c)=2p(p® +r* + 2rR) (5)
muwumn (@+b+c)’=a’+b3+c +3(@+b)(b+c)a+c)
wmsa’+b3+cd=(a+b+c)’-3@+b)(b+c)a+c)

= (2p)3 — 6p(p2 +rl+ 2rR)

= 2p(4p2 — 3p2 —3r? - 6rR)

= 2p(p2 ~3r% - 6rR)
ISR a+b3+c’= 2(p3 — 3pr2 —6prR) (6)
g8101:001 : PRIRURIMAN ABC gijpnts :

o

r -
cosA+cosB+cosC = 1+E I r 88 R MEtijiim

Shanamaminny 8 Mmdsinmis@man ABC 9

drame [y

MUGRUSHIIgHSIRSAN{HIMAN ABC i6ws :
b? +c? —a? +cz+a2—b2 +a2+b2—c
2bc 2ac 2ab
_(@+b+c)@° +b%+c%)—2(a° +b> +c°)

2abc

2
CosA+cosB+cosC =

ihwhg ta+b+c=2p
wWhw a’+b’+c?=2p%-2r°-8rR
[ a®+b%+c3=2(p% -3pr —6prrR)

sfssdorsies B s950 Gt 15



sRasESTmageys

THMS :
2 2 3 ,
CoSA +cosB +cosC = 2p(2p” —2r° —8rR) —4(p” — 3pr” — 6prR)
8prR
_2p(2p* —2r —8rR—2p® + 6r” + 12rR)
8pRr
ArR + 4r? r
= =1+ —
4rR R

15188 COSA +cosB +cosC = 1+% q
8. 1385 uaitkns
wdjfiman ABC gwmsgaa,b,c 1 mi | tiaisiisiis
nuisRimanss 1 GimspUsss X isginnedmndsn :
a.XA% +b.XB?+¢c.XC?=(a+b+c).XI°+abc 9

NI T

A

Y

A

sfssdorsies B s950 Gt 16
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AURBWHIGSITN (BXy) 16N :

B(0;0); C(a,0); A(ccosB;csinB)

a+b+c -
———— MAZUIY{H

Y r MmN 84 p =
is{fman ABC ieimms I(p—b;r ) ¢

i S thigngnisfiiman ABC imsiims :

S=.\p(p-a)(p-b)(p-c)=pr (JUBZNH)

IBARMAIIAGUNNE r? = (p—a)(p ; b)(p-c)

M X( Xo3Y,) SIESEAMAIIISyS |
Ml M = a.XA? + b.XB? + ¢.XC?

84 N=(a+b+c).XI°+abc s :

M = aXA? + bXB? + cXC?
= a[(Xg —ccos B)2 + (yg —csin B)z] + b(xo2 + y02) + c[(Xg — a)2 + yOZ]
=(a+b+ c)(x02 + yoz) — 2acXg(1+ cosB) — 2acyysinB + ac® +a’c

a® +c% -Db? 2

= 2p(x02 + y02) —2acxg(1+ )— 4y S+ a’c+ac

= 2p(x02 + y02) —Xo(2p)(2p — 2b) — 4y S + a’c +ac?

= 2p(x02 + yoz) —4pxo(p—b)—4y,S+ a’c + ac?

sfssdorsies B s950 ot 17



sRasESTmageys

it N =(a+b+c)XI1% +abc
= 2p|(xo — (P~ b))? + (yo —1)? |+ abe
=2p(Xo” +Yq) = 4xop(p —b) — 4yopr + 2p(p - b)? +
+ 2pr2 +abc
= 2p(Xo” +Yo") — 4pXo(p — b) — 4yS+ 2p(p—b)” +

(p—a)(p—b)(p-c)
p

= 2p(Xo” +Yo") — 4pXo(p —b) — 4yS +2p(p—b)* +
+2(p—a)(p-b)(p—c)+abc

wfi T =2p(p—b)*+2(p—a)(p—-b)(p—c)+abc

+2p +abc

=2(p-— b)[p2 — pb+ p2 —(a+c)p+ac]+abc

=2(p - b)[2p2 —(a+b+c)p+ac]+abc
=2ac(p—b)+abc=ac(2p-2b +b)=ac(a+c)

= a2c + ac2

IHAN N = 2p(xo2 + yoz) —4pXg(p—b)—-4y,S+ a’c +ac?

i ftgnys M = N SI8jiaaunms
a.XA? +b.XB?+¢c.XC*=(a+b+c)XI*+abc 9

sfssdorsies B s950 Gnf 18



sRasESTmageys

00.opwssegagsolinge $o dagdelimgiingoman
[Fajus

ngjHiman ABC it O thijasutislini(m 8 | hianimsiin

N 110 R 89 1 thinamnmsing s M s s imanine

w8 O1°=R%*-2Rr y d=0I=./R(R-2r)

AN TNIA

MNYGRAUGHIIEGNNS :
a.0A% +b.OB? +¢c.0C%* =(a+ b +¢)OI? + abc
{81t OA=OB=OC=R Bup=2tP+c

1AM8 2pR* = 2p.d” +abc §8jd’ = R2-3PC suid-o01 4

2p
- abc abc
MBIUBSIBNGSN S=pr=—— K5 —=2rR
v e 4R ~2p

gmsgdzsz—Zl’R=R(R—2r) §d=\/R(R_2r) |
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00 sgeshdaigselingomaidgnisgomas
ngjAman ABC gwmspgia,b,c

i | EsmEnInnE IS FTmanssiHms :

A= P=2 e 1= PP ac 1= P=Cap
P P P

AI[ENT TN

A

B C
MyGRUsHINSImeHTEeE X 1HMS
a.XA? +b.XB? +¢.XC? = (a+b+c).XI? +abc
10 X = A 19136108
a.AA% +b.AB? +c.AC? = (a+b+c).Al 2 +abc

bc? +cb? = (a+ b+c).AI2 +abc

sfssdorsies B s950 goif 20



sRasESTmageys

bc(b+c—a) bc(2p-2a)
at+b+c 2p

Buiss Al = /p— be 4 Ginggusghngjspnugum
P
IR
iHme 1A = /E.bc /p; ac , IC= /— ab

tﬁmsaIA2+bIBZ+cIC2_abc(p a_p-b p ,
p p p
[ﬁp—a+p—b+p—C=3p—(a+b+c):3p—2p=1
p p p p D
Bu18s a.lA% +b.IB% +c.IC* =abc

IHAOmme Al° =

- . A A A
9153~ﬁ65331§j§6ﬁ15252§-511§5 SIn E , COS E ,tan E

ng]Himan ABC gtumapi a,b,c BuRgstinm p o
IHESENAGIHYBNN{MY ¢
A_ |(p-b)(p-c)

sin
2 bc

cosA_ P2 A [(p-b)(p-c)
2 bc 2 pP(p—c)
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sRasESTmageys

AI[ENT TR

AugEmanimg IAL RS siné _IL_r
’ 2 1A 1A
Immr:\/(p—a)(p—b)(p—c) au A P2
P p
\/(p—a)(p—b)(p—f:)
IHINS sin = P _ (p—bg(p—c)
M_bc c
P
awigs sin = |PTPIP=0)  uetusimmadmngan
' 2 bc s
Sinﬁz\/(lca—a)(p—c) Eﬁsingz\/(p—a)(p—b) ﬂ
2 ac ab
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sRasESTmageys

gNHigieinms S = %bc sin A = besin %cos%

Sal<ly) coséz _ Jp(p—a)(p—b)(p—c)
besin®  pe |(P=P)P—0)
2 bc
guiss cosé p(p ) 1 [EIEBEIEIHADS ©

1/p(p b sﬁcos— =)
ac ab

(p b)(p C)
sm =
me tan 2 \/ _ \/(p —b)(p—c)
2 cos p(rl):) a) p(p—a)
c

NWEEMIBIAMSSNAGSY :

B_ \/(p A)(P-C) &y anC - \/(p a)(p—b)
2 p(p-c)

p(p-D) 2
oM. {PegvangsanHoiedsesisaiman
& S % S w

fan

b

ingjHiman A,B,C s a,b,c

i la, 0, Ic MAgsuginenuisg A,B,C imeimms :
2bc A 2ac B 2ab  C

(p=—0C0S— ,lg=—0C0S—,/c=—COS—
b+c 2 a+c 2 a+b
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NI T

A

LA

B K C

iR{ngnisgRiman ABC & :
S=SaBK +Sakc

lbcsinA=lc€A siné+lb€A sin—
2 2 2 2 2

THAUNWS L p = besin A imtﬁsinA=23in%cos%
(b+c)sin2
2bc A
Huiss fp =—COS——
b+c
ANWIBEEISHETS /¢ —ﬁcosE / —@cosg y
LEEEE B a+c 2% a+b 2
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sRasESTmageys

oé.mapeniigosiingolefimanses
ngEman A,B,C magtia,b,c SungsyimEm p

iU r ShmbmingiEman ABC ineimnms
r= (p—a)tan%= (p—b)tan%= (p—c)tan% q

NI T

M AL=AK=x,BL=BH=y CH=CK =2
(X+y=c
WMsqy+z=a 9§ 2(x+y+z)=a+b+c=2p
Z+X=Db

(x=p-(y+z)=p-a
MO X+Y+z=p i y=p—(z2+X)=p-Db

z=p-(x+y)=p-c

sfssdorsies B s950 Goif 25



sRasESTmageys

uuiss AK=AL=p-a,BL=BH=p-b
S8CH=CK=p-c 1

IL_r
AL p-a

nugiimanini ALL iws tan%=
iHMS r = (p—a) tan% 9 EWESEIEIANS :
r= (p—b)tang 88 r= (p—c)tan%
Huiss r=(p —a)tan% =(p— b)tan% = (p—c)tan% q
WP :
ignis{iiman ABC manansnsjuyg :
S=pr= p(p—a)tan% =p(p- b)tangz p(p—c)tan% 1
od .mapenigsoiagedgusisgoman

[Fajus :

ngjHiman A,B,C s a,b,c SuAgsiimE p 9
1 ra Tnligislingid A isiiman ABC izinms :

A p-c p-b

ran=ptan— 9

tan_ tan =
2 2

sfssdorsies B s950 Goif 26



sRasESTmageys

NI T

18 AK = AC+CK = AC+CH &3 AL =AB+BL = AB+BH
RIS &
AK+AL=AC+AB+(CH+BH)=AC+AB+BC=2p
ithts AK = AL isiinms 2AK =2AL =2p y AK=AL=p
it CK=CH=AK-AC=p-b 8iBH=BL=p-c
tuigs AK=AL=p ,CK=CH=p-b,BH=BL=p-c
nugmaninn ALQ nins tanézi—tz%A

NS rp = ptan% (1)
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sRasESTmageys

gigieinms B=n— ZLBH
B n ZLBH =

N8 =, - =——-/ZQBH
2 2 2 2
e tan 2 = cot LOBH = o1 - P=C
2 QH 1y
o -b
[PNTHEMIRIAMS Iy = —C (3)
tan2

musmnss (1),(2) 54 (3) snms:

A p-c p-b

ran=ptan— 9

tan_ tan =
2 2

o

RGN Iy =

p—C

tan >
2

THYISEMAGSHEIRumIssiRIGIMemMIimIngE B 84 kg C

B_ p—C pP-—-a

(2)

C p-b _ p-a

g =ptan— , rC=ptanE c
tan— tan— tan— tan—
2 2 2
WHU
A p-c P-
IS rralglic =(p—a)tan —.——5 ptan —. —
2 B
tan — tan—
2
2
alge =p(p—-a)(p—b)(p—c)=S
UGISSIANE S=\rrarg e
oot By s Gt 28



sRasESTmageys

99 1385628581 (Ceva's theorem )

[Fajus :

puiTman ABC gw u@iit AD , BE 84 CF {igm{5iisss
AF BD CE_,
FB DC EA

K gtomspnis
A[ENT TN

" gumthumst AD , BE &1 CF [papmpvssskK yt

A

B D C

Wi (A) humamamy A i juuss (BC)
i G 83 H thijywoshiumis (BE) si (CF) thuwumi (A)

1M o
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ithts AAHF 85 ABCF imsisits AF = AR (1)
i FB BC
AAEG gt ABCE 11356108 CE = BC (2)
i EA AG
AAGK 5 ABDK 31811118 AG = AR (3)
" BD DK
AAHK i ACDK 1131508 AR = AK (4)
’ DC DK
iy (3) & (4) nms AC_AH BD _AG (5)

BD DC * DC AH
ANgMnAgsl (1), (2) & (5) #il 84 HEIANS :
AF.BD.CEzAH.BC.AG=1 .
FB DC EA BC AG AH
F” gumnth AR BD CE_ ) ans
FB DC EA

imHshEnwsums AD , BE 84 CF wunmipdisss K g

ughth K tjuwgihyuns BE 84 CF sttt D' tipanii

U9 AK 811 BC 4 IS B {ieiesisms

AF BD' CE ) AF BD CE
=1 IHMEMIguy

FB D'C EA FB DC EA
BD'_BD _BD BD

1318TH IS +1=—-+1
Dc_pc Ypc DC

. BD'+D'C BD+ DC BC BC
‘" pc ~ bc ‘pc bc’
gans D' 84 D (HeaIm o

913 D'C = DC ®g8&mm
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o~ oo

ofl.@assegiss (Menelaus theorem )
[Fajus :

wiusss F,D 84 E @mijumomi AB , BC 81 AC
AF BD CE_.

is{fiiman ABC ietansiissiimigid

BF CD AE

apgnwogng . A

it Hy , Hy, , H thiinmpsiiis A, B, C i@ (EF)irfyim

imsiAme A L AH,F 85 A L BHF s AP _ A, 1)
? BF BH,
A 1 BH,D 85 A L CH_D s BD _ BH, (2)
’ CD CH.
A 1 AH,E 85 A L CH.E s CE _CH, (3)
? AE  AH,
o AF BD CE
fanassmi (1), (2) & (3) iwms . =1 9
B (1),(2) & (3) wws 0. 2L
goif 31
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o4 sfusnaniedgoyusinisRondges
[Fajus :
TWUNENIFIEQNESE P swmanipd A , B 85 C, D ifim
isisintns PAxPB=PCxPD -
AT[ENT TN

T ninnGss P g

i5ms ZPAD = ZPCB cgwinpunianshwsiy DB
ZAPD = ZCPB (Hglfga»
i5ms APAD &1 APCB th{iiimangsm

THMSHAIEURNG PA_PD s PAXPB=PCxPD
"~ PC PB
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T ninndss P oagligmg

A B

158 LADC = ZABC (gwinpuitinnstsny AC)H
ZAPD = ZBPC (¥

i5ms APAD i APCB thiiiimangsm

THTSHAIEURNG PA_PD s PAXPB=PCxPD 4
* PC PB

YUY

it R thifingd st d shepwngnisnniislsss P

41§ P isipurgings PAxPB = PCxPD = R* - d’

4 P iglipmingtige PAxPB =PCxPD=d’-R?
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NI T

A

fIen P sginyn siwwn KL shayaaismmimsmy P
i5ms PA.PB=PK.PL=(R-d)(R+d)=R%-d? 1

fI0n P ssligmingd ifiwwn KL haydgnismymsms P
i5ms PA.PB=PK.PL=(d-R)(d+R)=d*-R? 1

sfoeiosies By Sge

G0t 34



sRasESTmageys

0&.1a855ag:58 ( Ptolemy's theorem )
[Fajus :
il ABCD Miggimangiinfuiiineiams :
AC.BD=AB.CD+BC.AD

NI T
A
B
C
D

wi K thésuywis AC i ZABK = ZCBD
IHISHEIRGYE ZBAC = ZBDC 81 ZADB = ZACB
68 ZABD = ZABK + Z/KBD = Z/DBC + ZKBD = Z/KBC

i AABK guiisman ADBC st AABD gufiiimaun AKBC
K_CD. CK_DA
AB BD BC BD

THMS RG] URNS
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i) AK.BD= AB.CD §i1 CK.BD=BC.AD
ingiss AK.BD + CK.BD=AB.CD+BC.AD
BD(AK +CK) = AB.CD + BC.AD
ithts AK+CK =AC
puise AC.BD=AB.CD+BC.AD -
©0.Ses88:0gee58 ( Ptolemy's inequality )
[Fajus :
1g[Eegiman ABCD 19181Am0S
AB.CD+BC.AD>AC.BD
IgmnsmuieEmogsinugimin ABCDwingu |
NI T
R Za , 25,2, 2p Miissss A,B,C,D 1fum 9
THESEIHMN

(zg —za)(Zp —zc) +(zc —Z)(Zp —Za) =(Zc —Za)(Zp — ZB)
MY EMO{RIMANTANS :

|2c—Zpa)(Zp —2B) 1| (zg —Za)(Zp —Z¢) |+ [(zc —Zg)(Zp —ZA) |
'%n"fjiSS AC.BD<AB.CD+BC.AD 1
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o igpanegimanslingegs
JUUS Brahmagupta :( Brahmagupta's formula )
nguEman ABCD wmsgiia, b, ¢, d Sungstimps p
slAgHIsIGRENhANRD :
S=(p-a)(p-b)(p-c)(p-d)
RITENIUEMA

A D

iy A+ C=180° imsisims sinC =sin A 84 cosC =—cos A

IS S=SApp + Spcp =%adsinA+%bcsinC

2S
ad + bc
mugaueguRsinsatHman ABD s BCD

S=%(ad+bc)sinA i SINA = (1)
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i5ts BD? =a® +d? —2adcos A = b? + ¢ + 2bccos A
RGNS COS A = a®+d®-b®—c® (2)
> 2(ad + bc)

iiuame sin® A+cos’ A=1 (3)

iy (1),(2) & (3) mms :

452 +@F+d2—b2—c%2=1

(ad + bc)? A(ad + bc)?

4(ad +bc)? — (@° +d* —b* —c?)* ap

16 16

i o= 2(ad + be) + (a% + d? —b? —¢?)
=(a+d)>=(b—c)?
=(a+d+b-c)(a+d-b+c)

8% B=2(ad+bc)-(a®+d*-b%—c?)
=(b+c)? - (a—d)?
=(b+c+a-d)(b+c—-a+d)

ihwa+b+c+d=2p

imea=4(p-b)(p-c) sip=4(p-a)(p-d)
wngiss S = (p—a)(p—b)(p-c)(p—d)
tuiss S=./(p—a)(p-b)(p-c)(p—d)

RGN S° =
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AHNU .

%S5 D=C im:d=0

inms S=./p(p—a)(p—b)(p—c) jUBEUGH

B

A Cc,D

) JBBRESFHRNCHEIRNGTL
JUGEBretschneider (Bretschneider's formula)

nguaimAnmE ABCD w8igii a,b,c,d Sungstimp p

ineigprgnIuahAnndiEhes :

S= J(p _a)(p—b)(p—c)(p—d)—abcdcos?

+C
;
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NI T

A d D

IS S=Sapp + Seep =%adsinA+%bdsinC

Uy adsinA+bdsinC=2S (1)

mu{Gushsmatfiiman ABD § BCD i6ms :

a2 +d?—2adcosA =b? +c2-2bccosC

2,42 Rn2 2
tﬁmmadcosA—bccosC=a +d Zb ¢ (2)

iy (1) & (2) 1508

(adsin A+ bcsin C)2 + (adcos A - bccosC)2 =45% +
a®+d% —b®—c?

)
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RGNS :

2 42 K2 242
482=(ad+bc)2—(a +d 4b )" _sabedeos? AFC
82=0L—B—abcdcos2A+C

16
t80 o = 2(ad + be) + (a2 + d? —b? — ¢?)
=(a+d)’> —(b-c)?
=(@a+d+b-c)(a+d—-b+c)
8% B=2(ad+bc)-(a®+d*-b%—c?)
=(b+¢)* - (a—d)?
=(b+c+a-d)(b+c—-a+d)
ihtwa+b+c+d=2p
1913 = 4(p-b)(p—c) sup=4(p—a)(p—d)
A+C

TUNE18s S% = (p—a)(p—-b)(p—c)(p—d)—abcd cos?

Hutee S= \/(p—a)(p ~b)(p—0)(p—)—abedeo? A EE 4

YUY

o - : A+C
il ABCD wiififiigiiims cos =¢0s90° =0

imeS=./(p—a)(p-b)(p-c)(p-d) I
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ba.spessegagolinge o chagliecqimancsle
TUBHIMANITY ABCD Sinfk C(O, R) suwiimi{
4 C'(1,r) IHENS

d =0l =\/r2+R2—r\/r2+4R2 Y

AIFITTONA

i H 88 K thiansusthisni (C') thywini [AB]
811 [BC]itw E S8 F theanu{punii (Al)
81 (CI) thigtwiighh (C)tifum
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iHtN8 ZDOF = 2 /DCF = ZDCB

811 /DOE = 2 /DAE = /DAB

intg ZDOF + ZDOE = ZDCB + ZDAB = 180°
s187 [EF] thakinfnisns (C) -

MY {GRUSIHENSRURIMAN EIF 16M8 ©

2 2 2
oz BT EFT_lae2 k2 _R2 ()
2 4 2
58 Z1AB = <BAD =, ZICB = <DCB

ZBAD+«/DCB _ 180°
2 -2

inms ZIAB+ ZICB = =90°

W IH=IK =r 9

nifEimaning 1AH 84 IKC gmuiismsttmania

TEUMSIA 84 IC thipigin 8 AH + KC thHEUIHgHN 9

A H, K C
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NUSNAESHMHANRIMANT HIANS 12= 12+ 12 (2)
- r‘ 1A% IC

MYUGRUGHHNGANG | 15{uSuis (C)
%8 IA.IE=IC.IF=R?-0I?
: R2-0I° _ - R2-0I?
187 1A = 3) 84 IC= 4
8] E (3) = (4)
WRGMAGSY (3) 84 (4) NSWHN (2) 1HMS

2 2 2
12= 'E +'F22 $i8] 1E2 + 1F2 = G5 S') (5)
r< (R°-0I°) r
WRGMAGSH (5) NSRIAY (1) THWS

2 2\2
o12 - (R C2)| ) _R2

2r

g (R®=01%)?-201°.r*=2R*r*=0

i d =0l $5M8 (R°-d?)?-2d°r>-2R%r?=0
gd*-2(r* +R%)d*+R*-2R%r* =0 i1 t=d?
IHMS t°—2(r’ + R)t+ R*—2R%r? =0
LRI R

A'=(r® +R%)? —(R*=2R*r?)=r%(r* + 4R?)

WU t; =r® + R* —rvr? + 4R?
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§t,=r"+R°+rJr’+4R?
i d <R i t=d? <R? 9
Eigs t=d® =r® +R° —rvr +4R°

sizffe] =d=\/r2+R2—r r’+4R% 0% ¢

AEN

MM (R? —d?)? —2d%r?—2R%r? =0
PRHIGEATTR0T &

(R?=d?)* = 2r*(R*+d?) = r’[(R+d)* + (R—d)?]
TufAYEINNGY (R -d%)°r’ = (R+d)*(R-d)*r?

IHNSSNHGSH
1 1 1

2T Red)? (Rd)?
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$onRal

365 Semamesiaseiae

BENER9

18] ABC thffimanyuntin D thillsisngaiguiifign A
wh E 88 F wdmslusonsmamueD ihwduth AE Iniss BE
i AF inisss CF (8w E S8 F el D

wi M 84 N thinnsrameasissis BC 83 EF 15jum
gignw AN intss NM 2

SERNISES IS R

=
\

sfssdorsies B s950 Goif 46



sRasESTmageys

it (wy) 84 (w,) thisimsaysieiium AB s AC

iimg E e (wq) igne AE L BE it F e (w,) igns AF L CF
i P 84 Q misssumnihkums (AN) thuw(wg sl v D
T3

586 N el (wy) imsiams NEY = 'q A (D)

igne N théansrameis EF

Biensi (w,) 1Ams NF.. N\ ~NA (2)

Y (1) &(2) imigue 2 #1Q.awa=NP.NA t NQ=NP

it MB ="\ " " si..ui8 MN//PC stnussihes AP L PC

guiss. 0L M
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BenEa
tﬁéjﬁtmun ABC gwiwmsitiia,b,c BumSinmen S 9
guMtDEF thiitmansiinnsitman ABC 9

85°

mﬁmtﬁﬁmﬁm DE+EF+FD>—
abc

LERNISES IS

(0<x<a
imiBD=x, CE=y, AF=z i:18{0<y<b
0<z<c
iims DC=a-x, AE=b-y ,BF=c-z

o

mu{GusHusmatfiman BDF 1nws :

1

DF? = x +(C—z)2 —2X(c—2z)cosB
ithes cosB = cos(nt— (A+ C))=—-cos(A+C)
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198 DF% = x? + (C—2)* + 2x(c — ) cos(A + C)
=[XxcosA+(c— z)cosC]2 +[xsin A—(c—2z)sin C]2

ingnms DF > xcos A+ (c—z)cosC|

[nwgsEmies DE =y cosB + (a—X)cos A |

83 EF=[zcosC+(b—y)cosB]|

NI EMAEIMALENS

DE+EF+FD>|acosA+bce - ¢ C (L)

i T=acosA+bcosB oy’
=Rsin2A+Rsin2b--. 1i2C
=R(sin2A+ . ’3+s51n2C)
=4R< . o bunC

¢ abc abc 852

— Q_— > — = -
8R® 2R? ,@bC\2 abc
(—2)
4S
2
ﬁmssDE+EF+FD2£ Y
i abc
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DHER5AEENS

0. ARNESANGIHRVOMEIBE HseNst Wwede RoFAg)
(bmsqges589 BT OOG)
©.Challenges in Geometry

( Christopher J.Bradley)
M. Inequalities A Mathematical Olympiad Approach

(Radmila Bulajich Manfrino Jose Antonio Gomez Ortega Rogelio Valdez Delgado)

@.Geometric inequalities ( By 0.BOTEEM, R.Z.DJOPDJIVIC)

é~ INFINITY (Hojoo Lee, Tom Lovering, and Cosmin Pohoat))
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